
For Private Circulation Only

JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : gm‘mÝ¶ {dkmZ  / 21

(8) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
1) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo
2) àmUr eara{dkmZ

1) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo
1) Q´m`H$mo‘moZmg `mo{ZZm{bg ho ......... Amho.

1) ~waer 2) {OdmUy 3) àmoQ>moPwAm 4) {dfmUy
1) Trichomonas vaginalis is a ..........

1) Fungi 2) Bacteria 3) Protozoa 4) Virus

2) Imbrbn¡H$s, àmo~mo{g{S>`m Am°S>©aMo d¡{eï²>`nyU© d¡{eï²>` H$moUVo Zmhr?
1) nm`mMo Vido ‘D$ Am{U ’°$Q>r Cer nm§T>`m© bd{MH$ V§Vy§Zr PmH$bobo AgVmV.
2) H$mZ ho H$maÀ`m ao{S>EQ>agmaIo AgVmV.
3) Vo é{‘Z§Q> AmhoV Am{U Ë`m§Zm {nÎm ‘yÌme` Zmhr.
4) {H$S>Zr‘Ü ò 5-7 bmo~ AgVmV.

2) Among the following, which one is nof the characteristic feature of the order Proboscidea ?

1) The soles of the feet are covered with soft and fatty cushion white elastic fibres.

2) Ears are like the radiator of a car.

3) They are ruminants and have no gall bladder.

4) Thekidney has 5—7 lobes.

3) àmÊ`m§À`m H«$‘mÀ`m OmoS>çm Ë`m§À`m {’$aÊ`mÀ`m gd`ter Owidm:
a)  Am°S>©a {MamoßQ>oam i)  ~wê$O, ImoXUo Am{U MT>Uo
b) Am°S>©a S>‘m}nQ>oam ii)  doJmZo {’$aVo, PmS>mnmgyZ PmS>mda PmoHo$ KoVo.
c) Am°S>©a àmB‘oQ²g iii)  Am~m}[a`b àmUr Am{U H$m ©̀j‘ ½bm`S>a AmhoV
d)  Am°S>©a ’$mo{bS>moQ>m iv) ho gñVZ àmUr gVV CÈ>mU H$aÊ`mg gj‘ AmhoV
n`m©̀ r CÎmao :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (ii) (iii) (iv) (i)

3) (iii) (ii) (i) (iv)

4) (iv) (iii) (ii) (i)

3) Match the pairs of animal order with their moving habits :

a) Order Chiroptera i) Burrows, digs and also climbs

b) Order Dermoptera ii) Moves fast, swings from tree to tree .

c) Order Primates iii) Are arboreal creatures and efficient gliders

d) Order Pholidota iv) Are mammals capable of sustained flight
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Answer options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (ii) (iii) (iv) (i)

3) (iii) (ii) (i) (iv)

4) (iv) (iii) (ii) (i)

4) Imbrbn¡H$s H$moUVm amÁ¶ àmo{Q>ñQ>m g¥ï>rMm ^mJ Zmhr?
1) hm¶{S´>bm 2) A‘r~m 3) n°am‘o{e¶‘ 4) ẁp½cZm

4) Which of following is NOT a member of kingdom Protista?

1)  Hydrilla 2)  Amoeba 3)  Paramecium 4)  Euglenaell

5) e§IemómMm Aä¶mg åhUOo H$emMm Aä¶mg ?
1) {gc|Q>aoQ> 2) ‘mocwñH$m 3) ‘mocwñH$m§Mo H$dM 4) ‘mocwñH$m§Mo AmdaU

5) Conchology is the study of what ?

1) Coelenterates 2) Mollusca

3) Shells of Mollusca 4) Mantle of Mollusca

6) Imbrb dJuH$aUemókm§Zm Ë`m§À`m dZñnVr dJuH$aU àUmbrdarb nwñVH$m§er Owidm.
a) B§½ba Am{U à±Q>b i) âbm°d[a¨J ßbm§Q²gMr CËH«$m§Vr Am{U dJuH$aU
b)  Om°Z h{MÝgZ ii) S>m` qH$dm Z°Ma{bMoZ âb°ÝPoZ’°{‘brZ
c)  ~|W‘ Am{U hÿH$a iii) âbm°d[a¨J dZñnVtMo Hw$Qw>§~
d) AmW©a H«$m°Z{¹$ñQ> iv) OoZoam ßbm§Q>ma‘
CÎma n`m©̀ :

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (iii) (ii) (i) (iv)

3) (ii) (iii) (iv) (i)

4) (iii) (iv) (i) (ii)

6) Match the following Taxonomists with their books on Plant Classification System :

a) Engler and Prantl i) The Evolution and Classification of Flowering Plants

b) John Hutchinson ii) Die or Naturlichen Pflanzenfamilien

c) Bentham and Hooker iii) Families of the Flowering Plants

d) Arthur Cronquist iv) Genera Plantarum

Answer options :

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (iii) (ii) (i) (iv)

3) (ii) (iii) (iv) (i)

4) (iii) (iv) (i) (ii)
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7) ‘mocwñH$m dJu¶ àmUr ‘¥XþH$m¶ AgVmV. Am{U Vo Imcrc d¡{eîQ>ço YmaU H$aVmV :
A) Vo àm{Ug¥ï>r‘Yrc Xþgam gdm©V ‘moR>m dJ© Amho. ~) gd©gmYmaUnUo Vo {Ûnjr¶ g‘{‘Vr¶ AgVmV
H$) Vo ’$º$ O{‘ZrdaM amhVmV. S>) Ë¶m§Zm ‘m§gc nm¶ AgVmV.
darcn¡H$s H$moUVo {dYmZ /{dYmZo ~amo~a AmhoV ?
1) ’$º$ A 2)  A, ~ Am{U S> 3) A, ~ Am{U H$ 4) ’$º$ A Am{U ~

7) Phyllum Mollusca contains soft bodied animals characterized of :

a. They are second largest phyllum in animal kingdom

b. They are generally bilaterally symmetrical

c. They are only Terrestrial animals

d. They are having muscular foot

Which of the statements given above is/are correct ?

1) only a 2) a, b and d 3) a, b and c 4) only a and b

8) Imbrb Owidm:
a) hm`S´m i)  àmoQ>moPmoAm
b)  Amon{bZm ii) nmo[a’o$am
c) gm`H$m°Z iii)  E°Zo{bS>m
d) Hirudinaria granulosa iv)   Coelenterata

CÎma n`m©̀ :
(a) (b) (c) (d)

1) (iv) (i) (iii) (ii)

2) (iv) (i) (ii) (iii)

3) (i) (ii) (iii) (iv)

4) (iii) (i) (ii) (iv)

8) Match the following :

a) Hydra i) Protozoa

b) Opalina ii) Porifera

c) Sycon iii) Annelida

d) Hirudinaria granulosa iv) Coelenterata

Answer options :

(a) (b) (c) (d)

1) (iv) (i) (iii) (ii)

2) (iv) (i) (ii) (iii)

3) (i) (ii) (iii) (iv)

4) (iii) (i) (ii) (iv)

9) An¥ð>d§er àmÊ¶m§Mm Xþgam gdm©V ‘moR>m JQ> H$moUVm?
1) AmW«m} nmoS>m 2) nmo[a’o$am 3) ‘mobwñH$m 4) E{H$ZmoS>‘m©Q>m

9) Which is the second largest phylum of invertebrate ?

1) Arthropoda 2) Porifera 3) Mollusca 4) Echinodermata
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10) Imbrb Owidm:
a) {S>ßZmoB© i)  gm`ŠbmoñQ>mo‘
b) Elasmobranchii ii) ’w$â’w$gmMm ‘mgm
c) Teleostei iii) hmS>mMm ‘mgm
d) Marsipobranchii iv) H$m{Q©>bm{JZg ‘mgo
n`m©̀ r CÎmao :

(a) (b) (c) (d)

1) (ii) (iv) (iii) (i)

2) (ii) (iii) (iv) (i)

3) (i) (iv) (iii) (ii)

4) (iv) (iii) (ii) (i)

10) Match the following :

a) Dipnoi i) Cyclostomes

b) Elasmobranchii ii) Lung fish

c) Teleostei iii) Bony fish

d) Marsipobranchii iv) Cartilaginous fish

Answer options :

(a) (b) (c) (d)

1) (ii) (iv) (iii) (i)

2) (ii) (iii) (iv) (i)

3) (i) (iv) (iii) (ii)

4) (iv) (iii) (ii) (i)

11) H$moUVm H$mob|Q>oamQ>m gr noZ qH$dm gr ’o$Xa åhUyZ à{gÕ Amho?
1) AëgrAmo{Z`‘ 2) noZ°Qw>bm 3) Jm°Jm}{Z`m 4) Am°ao{b`m

11) Which coelenterata is popularly known as “sea pen” or “sea feather”?

1) Alcyonium 2) Pennatula 3) Gorgonia 4) Aurelia

12) Imbrb Owidm:
a)  S°́JZâbm` i) ßboH$moßQ>oam
b) {’${ebrO ii)  B’o$‘oamonoQ´m
c) ‘oâbmBO iii) Ý ỳamoßQ>oam
d) ñQ>moZâbmBO iv)  AmoS>moZmQ>m
n`m©̀ r CÎmao :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (ii) (i) (iv)

3) (iv) (i) (iii) (ii)

4) (ii) (i) (iii) (iv)

12) Match the following :

a) Dragonflies i) Plecoptera

b) Fishilies ii) Ephemeropetra
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c) Mayflies iii) Neuroptera

d) Stoneflies iv) Odonata

Answer options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (ii) (i) (iv)

3) (iv) (i) (iii) (ii)

4) (ii) (i) (iii) (iv)

13) AmW«m}nmoS>m OmVr¶ àmÊ¶m§Mo {d{eï> JwUY‘© H$moUVo AmhoV?
A) gdm©V ‘moR>r ’$mBb‘ ~) ñHo$boQ>Z {M{Q>ZZo PmH$bobo Amho
H$) I§{S>V eara S>) {Ûnjr¶ g‘{‘Vr eara
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ A d ~ 3) ’$º$ A, ~ Am{U H$ 4) A, ~, H$ d S>

13) What are the peculiar characters of phylum Arthropoda ?

a) Largest phylum b) Skeleton is covered with chitin

c) Segmented body d) Bilaterally symmetry body

Answer options :

1) Only a 2) Only a and b 3) Only a, b and c 4) a, b, c and d

2) àmUr eara{dkmZ
1) ‘wº$ {Od§V àmoQ>moPmoAm‘Ü ò Amhma XoÊ`mMr nÕV Amho:

1) hmobmoPmoBH$ 2) gàmoPmoBH$ 3) XmoÝhr (1) Am{U (2) 4) darbn¡H$s Zmhr
1) Mode of feeding in free living protozoans is :

1) Holozoic 2) Saprozoic 3) Both (1) and (2) 4) None of the above

2) Jm§Sy>imMo {Zd©hZ H$aUmao Ad¶d -
A) n°amnmo{S>¶‘ ~) àmo½bm°{Q>S²>g H$) {gQ>o¶ S>) ñ¶yS>monmo{S>¶m
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ H$ 3) ’$º$ A Am{U S> 4) ’$º$ ~ Am{U S>

2) Locomotory organ in earthworm is

a) Parapodium b) Proglottids c) Setae d) Pseudopodia

Answer options :

1) Only a and b 2) Only c 3) Only a and d 4) Only b and d

3). Imbrbn¡H$s H$moUVr bmb aº$ àUmbr Zmhr?
1) Ho$b 2) S>’$s 3) ABO 4) HLA

3) Which of the following is NOT a red blood system?

1)  Kell 2)  Duffy 3)  ABO 4)  HLA

4) VéU {Od§V OÝ‘mbm òVmV na§Vw àmW{‘H$ A{dH${gV AdñWoV Ago åhUVmV:
1) ‘oQ>mWo[a`m 2) ẁWo[a`m 3) àmoQ>moWo[a`m 4) darbn¡H$s Zmhr
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4) The young are born alive but in a rudimentary undeveloped condition is known as :

1) Metatheria 2) Eutheria 3) Prototheria 4) None of the above

5) {H$ZmanÅ>rÀ`m {eamMm nm`Ï`mer .......... H$moZ H$sQ>H$mVrb n§Im§À`m gm‘mÝ` {eao‘Ü ò AgVmo.
1) JwXÛmamg§~§Yr 2) A°{nH$b 3) Humeral 4) VQ>r`

5) At the base of coastal vein  .......... angle is present in general veination of wing in insect.

1) Anal 2) Apical 3) Humeral 4) Coastal

6) ~wbÀ`m go{‘Zb ìho{gH$ëgMo òmd ^anya à‘mUmV AgVmV
1) H$m°na 2) ’«w$ŠQ>moO 3) ‘°ZmoO 4) Oob

6) Bull’s seminal vesicles secretions are rich in

1) Copper 2) Fructose 3) Mannose 4) Gel

7) gmYmaUnUo nmo[a’o$am‘Ü¶o J°‘rQ H$em‘wio V¶ma hmoVmV ?
1) H$mo¶mZmogmB©Q²>g 2) Am{H©$AmogmB©Q²>g 3) ‘m¶mogmB©Q²>g 4) {nZmH$mogmB©Q²>g

7) Normally in porifera the gametes are formed by

1) Choanocytes 2) Archaeocytes 3) Myocytes 4) Pinacocytes

8) “Lumpi-Pro Vacinne” V§ÌkmZm~m~V Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho/AmhoV?
a) ICAR-NRCE B{¹$Ýg Am{U ICAR-IVRI BOmWmJa `m§Zr {dH${gV Ho$bo Amho
b) EbEgS>r {déÕ àmÊ`m§À`m amoJà{V~§YH$ bgrH$aUmgmR>r dmnabm OmVmo
c) bgrH$aUmÀ`m EH$m S>mogZ§Va EbEgS>rnmgyZ XrKm©̀ wî` g§ajU XoVo
d) IVBP nwUo `m§Zm ì`mdgm{`H$ CËnmXZmgmR>r gwnyX© Ho$bo Amho
n`m©¶r CÎmao :
1) ’$º$ a Am{U d 2) ’$º$ b 3) ’$º$ c 4) ’$º$ d

8) Which of the following statement/s is/are incorrect regarding “Lumpi-Pro Vaccine” technology?

a) is developed by ICAR-NRCE equines and ICAR-IVRI Izathagar

b) is used for the prophylactic immunization of animals against LSD

c) gives long life protection against LSD after single dose of immunization

d) is handed over for commercial production to IVBP Pune

Answer options :

1) a and d only 2) b only 3) c only 4) d only

CÎmao : (8) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ

1) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo
1-3 2-3 3-4 4-1 5-3 6-3 7-2 8-2 9-3 10-1
11-2 12-1 13-4

2) àmUr eara{dkmZ
1-3 2-2 3-2 4-1 5-3 6-2 7-2 8-3


